A: e°@:A%(‘ﬁ5®
© 2

B Notstion: A denoles  vector
A u.)/O\JCk' orCoyw MeEons ( ﬁ ‘

G VK.'E. = A

U\_)rdlr(’_a"
ﬁ/'\)h B s fh ol =L
="
P
(Do k
w:'ﬁ&:pax:f:_ﬂx@osﬁ
Aﬂ Ja@cyx Uu}of
% = N Ax cos®
=0 Sinee G- ?Oo
-
) bk.)% = ha B e B < 0
(‘n% 6 &
S_W'}Ce 9>C1©



Now

N = mg O cos (40 + )

3
= - g BX Sin ¥ j/ﬁf\ﬁﬁ
50

@;: b h (32“3\)
S
-

o€

G e e formuil @ wich
\

[ e Nacre O\F ’cocla«j



KOL\(‘,\}: -‘L‘(‘: = ot Constont of Q oot Constant

o
W= Z Fese; al =\ Fmreesow a
A er nodively
W = Z F . ﬂ_ = g F “alQ,
: o
\T\»-..g 1 koown

oS G \'\ne, rl"(‘l{'egﬂ&)
More  math +H o needed

o 5(3):3

&E"—&x? $ d h)dﬂ,
= R

U B D "g
£ > = :
EW:S?—QQKQ' = S(\:* (jﬁﬂ £ Fﬁci{‘:ﬁ)OlE,

Al

=t
(!
e

et

~



eahuq\‘tlw

o S & £,
\/Y\/‘V\--'\'\f\;’“\/‘\/“\f’"\u'—é ol
c‘,——\\/,—‘J
_ X
____Gem{wg\_,\\g the rere. ol Stretcn ot
“‘he More VB ?Kﬂ«"\-\s
E -

= S?r'}n% Co Petoot

e : 0
. So S\nce ‘:S-!: Fr = r"%

[::Sz"‘\"; F&':\Esl\:k*
‘Lv\ck‘\(:o\k&s Qo’f’ce. 18 G?POSE%Q cgls.ﬁfawm
- at

= Yow fomg\q [

e

\ 5
\m"?’l‘all PR e

[}
X <4 o)



E
(S

\W‘ \i We!:} \‘\ ,i" \\
1 e
0 d {=dxT X

Wheds 1he twork done mouing the gﬁarirﬁ to X

b
W:ﬁﬁ-&=«8€"cedm
. .
i @

.y'?
@ Woclk = S F? g - Y e = k%;
dene ..},5 Eu\kﬁx/ o 4

N X

wWork dsne = = .kxi

ﬂoa 5?{"‘»-‘\%



. U)Ofk Meﬂ KSn@’r’.{ Q&’ieﬂ“‘&\j “‘Ok“j e Carf’—\}

Te
—» |\
ol

b s

AX

Ccuvw 76\055& ‘e work done ‘o +he C,Lwcw-%e

A Qﬁaegck W tthouX 4@\\&}13% & ouk time

- V
E e R —~
o= WV = Ci\_\f . c}_>f
Ff = o Y él, ok’c O}\X oL‘t
AX
. ¢
S FP C}X ':.gm \/ Av
e :
(Wae E
0. 1 m\/q‘\ = _Lmvf — U my
?/ ,\ 2 & i
We CO\L\
K = fzk,muz s dke Bwdice %@,‘83



\J\)& ‘kt‘e/o&eé one QQ{‘Q@ '3001* “mﬁm’l:j "Pof‘c,a:“s
Fl ; E), : 60&-0\w Jloi‘c,e, LQO\A_.\ck oo u}or\t
cnd wew
TR W
\ % = 4 . \
E'xawp\f.’i
‘ESJum ofE . e  loork Glone, when \.Mc\q‘n%
o eullex
B{'%ﬂ”" Plter
e [ =
P
) = bk- = KC-K‘ :_L(YDU - O
\ i
P
e = 15-8 Uy = Soom/[§

’Uk_) = _LL0,0oSkz ) (S,f(()z,,l)l - =
3

LY



?VG({?

di dﬁ 20 .
{ng/ \ ¢y = Al sinW

A {ab |

"

AW =

L ,LE/T
oo '_‘1"

40 - mqeosd dl =-mg dy
GisGedll = cos (W s 0 )= g 0 oiQ, = —J,

Now

b h‘* _ |
\\N = &A\N :S"‘mé} olg xﬂm%'(ﬁz”\jj

O~

i

(Wa = me s \

}

s

So consider o closed M(ﬂ } g
teipe %: tA.F ie) &‘-{’ ol ewan

/‘jz /\/éaiM W
m% %1 i "‘f‘"’% (5 “le
|

Jale
\‘!\}ia F&ﬁ @
&

2



